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Question 1
Question Type: MultipleChoice

Select the statements that were mentioned as problems with DTDs when the XML Schema was instituted.

Options: 
A- DTDs have not yet been recommended by the W3C .

B- In a DTD, it is not possible to specify an explicit numerical data type.

C- DTDs do not comply with XML syntax rules.

D- In a DTD, Unicode cannot be used. W Courier Newlr Z

Answer: 
B, C

Question 2
Question Type: MultipleChoice



Assume that you want to change XML document A into XML document B, as shown below. Choose the specification that is the best

suited for this purpose.

[XML document A]

Charley

[XML document B]

Options: 
A- XSLT

B- CSS

C- XSL-FO

D- RSSW Courier Newlr Z

Answer: 
A



Question 3
Question Type: MultipleChoice

Choose the statement about XML that is correct.

Options: 
A- An XML files extension must be . xml.

B- If any extension other than . xml needs to be appended to XML files it must be registered with the W3C.

C- XML file extensions are not prescribed by the W3C .

D- If an XML file's extension is . xml, no XML declaration is required. W Courier Newlr Z

Answer: 
C

Question 4



Question Type: MultipleChoice

Choose the statement about a difference between XML and HTML that is incorrect.

Options: 
A- In HTML element names are predefined, while in XML element names can be defined depending on their purposes of use.

B- HTML is an extension of XML and is a language developed to view Web pages.

C- In an HTML document, the end-tag associated with a start-tag can be omitted. However, in XML documents a start-tag must always

have a terminating end-tag.

D- HTML element names are not case sensitive, while XML element names are case sensitive. W Courier Newlr Z

Answer: 
B

Question 5
Question Type: MultipleChoice

Choose the statement about style sheets that is correct.



Options: 
A- XSL is the only style sheet that can be applied to XML documents.

B- CSS is a collection of style sheets that can be applied to both XML and HTML documents.

C- CSS is not recommended by the W3C.

D- In CSS, data and expressions are inseparable. W Courier Newlr Z

Answer: 
B

Question 6
Question Type: MultipleChoice

Choose the statement that is correct with regard to protocols used to transmit XML.

Options: 



A- XML does not restrict which transmission protocols can be used.

B- XML must always be transmitted using HTTP or HTTPS.

C- When transmitting XML using SMTP, it must always be encoded using BASE64.

D- XML cannot be transmitted using SMTP. W Courier Newlr Z

Answer: 
A

Question 7
Question Type: MultipleChoice

Select the specifications listed below that are based on XML.

Options: 
A- SVG

B- MathML

C- SGML



D- HTMLW Courier Newlr Z

Answer: 
A, B

Question 8
Question Type: MultipleChoice

Choose the statement about DOM that best describes it.

Options: 
A- DOM is a definition document that represents the data structure of XML documents.

B- DOM is a standard interface used by applications to work with XML data.

C- DOM is a technical specification designed to mix multiple XML instances.

D- DOM is an index for indicating the level of XML processing undertaken by application software. W Courier Newlr Z

Answer: 



B

Question 9
Question Type: MultipleChoice

Choose the specification that stipulates that XPath be used to access or refer to any part of an XML document.

Options: 
A- XSLT

B- DTD

C- XML

D- Namespaces in XMLW Courier Newlr Z

Answer: 
A

Question 10



Question Type: MultipleChoice

Select which of the following is a correct XML declaration.

Options: 
A- <?xml version='1. 0' encoding='UTF-8'>

B- <?xml encoding='UTF-8'>

C- <?xml encoding='UTF-8' version='1. 0'?>

D- <?xml version='1. 0'?>W Courier Newlr Z

Answer: 
D

Question 11
Question Type: MultipleChoice

Select which of the following is not a well-formed XML document.



Options: 
A- <?xml version='1. 0'?>

<root><![CDATA[4<1]]></root>

B- <?xml version='1. 0'?>

<root>4+1</root>

C- <?xml version='1. 0'?>

<root>4>1</root>

D- <?xml version='1. 0'?>

<root>4<1</root>W Courier Newlr Z

Answer: 
D
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